oo = == == ==[1[]

0000000000200 00000-000000000000000000
0oO@oooon)

goo:

000 : 2015/11/5 16:16:04

ooo

00 00000001040110300 00 0010402026660 0000

00 00000000000001040120280 0 0000000000000 0O000O0OO0OO
00001040120190200240250260 270 0 060 0000000000 0OODOO0OOOO0OO
J00000d000oo0ooU0o0odoo0odoo0ooo0oooooooooooooon
0J00000d0000o00o0U00o00odoodoodoo0o0o0oooooooooooooon
ooog

00 0O0oooooooo

(0) 00O00D1040120140 012018000

(0) 0OO0O0DOODDbi140120260004007000000000000000O

(0) 00OO00D10401202700 000000000010 000O000DOODOOODOOOC(
http://www.cyc.edu.tw/HO0 000000 OO0 (http://www.nses.cyc.edu.tw/)HO OO O0O0O0DODO
oooodooooooooooo

00 00000000000000000000D00000OO05-34273940 0

00 00000000D00000000000dhttp://163.30.76.50/web 01.php0 O OO

http://163.30.202.2 2024/5/2 19:46:51 - 1


http://www.cyc.edu.tw/
http://www.nses.cyc.edu.tw/
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

